

Vendor Ranking

Page 1 of 1

Letting: 03221013 October 13, 2022 02:00 PM **Call Order**: 008

Contract: E3W39-R0

District: District 3

Counties: DIST/ST-WIDE, LEON Fed Aid No: N/A

Contract Time: 12/31/23 COMPLETION DATE

Project(s): 42378147204 (*)

Contract Desc: BDI PROJECT - MOWING AND LITTER REMOVAL ROUTINE MAINTENANCE

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	FLORIDA RIGHT OF WAY CORPORATION	Responsive	Winning bid	\$935,149.18	100.00%
	AMG OPERATIONS, LLC.	Irregular	Irregular bid		

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.





Tabulation of Bids

Page 1 of 3

Letting: 03221013 October 13, 2022 **Call Order:** 008 **Contract:** E3W39-R0

District: District 3 Counties: DIST/ST-WIDE, LEON Fed Aid No: N/A

Contract Time: 12/31/23 COMPLETION DATE Project(s): 42378147204 (*)

Contract Descr: BDI PROJECT - MOWING AND LITTER REMOVAL ROUTINE MAINTENANCE

The work under this Site Specific, Work Document-driven Contract in Leon County, consists of routine mowing of grassed/vegetated roadside areas in conjunction with the pickup, removal, and disposal of litter and debris. Mobilization and Maintenance of Traffic are incidental to the pay items listed.

BUSINESS DEVELOPMENT INITIATIVE -- Bidders must be a Small Business as defined by

FDOT. Small business size standards can be found at https://www.fdot.gov/equalopportunity/bdi.shtm

For more information about bidding on BDI projects, please see the training guide located at

http://www.cmdp-bgp.com/bdi-projects.html Prequalification per Rule 14-22 is not required.

Bidders must complete and submit the Small Business Affidavit Form No. 275-000-01 for approval

prior to receipt of bid documents. The form may be accessed at:

https://www.fdot.gov/equalopportunity/bdi.shtm

It is only necessary to submit the Small Business Affidavit SBA form once per year.

Send a completed and notarized affidavit as an attachment to:

fdot.bdi@dot.state.fl.us

All Sublet work must be contracted to a small business or businesses as defined by the Department.

The subcontractor must also submit a notarized Small Business Affidavit Form provided by the

Department prior to the start of work. Bidders must submit the BDI Reference Sheet Form No. 275-000-02 with the bid unless bidder is prequalified in the projects major work type, per Rule 14-22, Florida Administrative Code. Upload the completed BDI Reference Sheet Form No. 275-000-02 as a zip file using the File Attachment Upload folder in the AASHTOWARE Project

Bids application.

BDI Reference Sheet may be found at:

https://www.fdot.gov/equalopportunity/bdi.shtm

Proposal Guaranty of \$500 is required for bids over \$150,000 and may be in the form of a Cashiers Check, the BDI Bid or

Proposal Bond Form No. 375-020-16, or the standard Bid or Proposal Bond

form, Form No. 375-020-09.

Line No / Item ID Alternat	te Quantity Units	(1) FLORIDA RI CORPOR					
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (LARGE MACHINE MOWING (AC							
0005 E107 1 1 LITTER REMOVAL	42,648.170 AC	6.98000	297,684.23				
0010 E107 2 1 MOWING (LARGE MACHINE)	5,606.060 AC	27.48000	154,054.53				





Tabulation of Bids

Page 2 of 3

Letting:	03221013	October 13, 202	22 Cal	l Order: 008		Contract:	E3W39-R0	
Line No /		te Quantity Units	(1) FLORIDA RI CORPOR					
	s item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (LARGE MACHINE MOWING (AC								
0015 E10 MOWING (SL	7 2 2 LOPE)	589.190 AC	224.00000	131,978.56				
	7 2 3 TERMEDIATE MACHIN	945.830 NE) AC	224.00000	211,865.92				
	7 2 4 MALL MACHINE)	406.080 AC	224.00000	90,961.92				
	7 2 5 ROL, MANUAL	168.180 AC	289.00000	48,604.02				
000	01 LARGE MACHINE S MOWING (AC)	Section Totals:		\$935,149.18				

Contract Grand Totals: \$935,149.18



12/02/2022

Tabulation of Bids

Page 3 of 3

Letting: 03221013 October 13, 2022 **Call Order:** 008 **Contract:** E3W39-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.